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PART I
Directions : (1) Find the missing letter :
1. A, C, F, ?, O

(a) G (b) H (c) I (d) J
Directions : (2 - 4) Find the missing number(s) :

2.

(a) 64 (b) 36 (c) 34 (d) 60
3. 12, 15, 18, 21, ?

(a) 26 (b) 27 (c) 23 (d) 24
4. 3, 6, 12, 24, ?, 96

(a) 60 (b) 34 (c) 48 (d) 36
5. Which number is opposite to 4 in a standard dice

given below ?

(a) 1 (b) 3
(c) 5 (d) Can’t be determined

Direction : (6) In the following question, find which
one word can not be made from the letters of the
given word.

6. TEMPERAMENT
(a) METER (b) PETER
(c) TENTER (d) TESTER

Directions : (7) Arrange the given words in alpha-
betical order and tick the one that comes first:

7. (a) Grammar (b) Granary
(c) Gradient (d) Grand

PART I
ãÊ×âáí ð (1) ¼èÃÈí áÜÓ ×íËíð

1. A, C, F, ?, O
(a) G (b) H (c) I (d) J

ãÊ×âáí : (2 - 4) ¼èÃÈä ÖïKÒâ ×íËíð

2.

(a) 64 (b) 36 (c) 34 (d) 60
3. 12, 15, 18, 21, ?

(a) 26 (b) 27 (c) 23 (d) 24
4. 3, 6, 12, 24, ?, 96

(a) 60 (b) 34 (c) 48 (d) 36

5. Ìä¿ë áâÍëÔâ ÍýÑâãÇÈ ÍâÖâÑâ 4 Ìä ãÕ#} ÏâÁçáë »æ ÖïKÒâ
ÚíÒ¬

(a) 1 (b) 3

(c) 5 (d) »Úä ×»âÒ ÌãÚ

ãÊ×âáí ð (6) Ìä¿ëÌâ ÍýWÌíÑâï áëÕí ×bÊ ×íËí »ë Áë Ìä¿ë áâÍëÔâ
×bÊÌâ áÜÓí ÕÅë Ì ÏÌëÔí ÚíÒ.

6. TEMPERAMENT
(a) METER (b) PETER
(c) TENTER (d) TESTER

ãÊ×âáí ð (7) áâÍëÔâ ×bÊíÌë ÑèÛâÜÓäÒ »ýÑÑâï ½íÄÕí áÌë ÈëÑâï
ÍýÉÑ áâÕÈâ ×bÊÌë áïã»È »Óí.

7. (a) Grammar (b) Granary
(c) Gradient (d) Grand

For Rough Work
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Direction: (8)
In each of the following questions, select a
figure from the four alternatives, which when
placed in the blank space of figure (X) would
complete the pattern.

8. Identify the figure that completes the pattern.

(a) (b)

(c) (d)

Directions : (9) In following question, choose the
correct mirror image from alternatives (a), (b),
(c) and (d) of the Word / figure (X).

9.

(a) (b)

(c) (d)

ãÊ×âáí ð (8)

Ìä¿ëÌâ ÊÓë» ÍýWÌíÑâï áâÍëÔ ¿âÓ ãÕ»lÍíÑâïÉä áë» áâ»öãÈ
ÍÖïÊ »Óí »ë Áë áâ»öãÈ(X)Ìä ¼âÔä ÁgÒâÑâï Ñç»ÕâÉä ÖïÍèÇô
ÐâÈ ÍèÇô ÉâÒ.

8. áëÕä áâ»öãÈÌë áíÛ¼í »ë Áë ÖïÍèÇô ÐâÈ ÍèÇô »Óë.

(a) (b)

(c) (d)

ãÊ×âáí ð (9) Ìä¿ëÌâ ÊÓë» ÍýWÌÑâï ãÕ»lÍ A, B, C áÌë D
×bÊ áÉÕâ áâ»öãÈÌä Öâ¿ä ÍýãÈãÏïÏ ÍÖïÊ »Óí (X).

9.

(a) (b)

(c) (d)

For Rough Work
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Directions (10)
Choose the correct water image of the given fig-
ure (X) from amongst the four alternatives.

10.

(a) 1 (b) 2 (c) 3     (d) 4
11. The Indo-Arabic Numeral for CDXL is__

(a) 550 (b) 540 (c) 440 (d) 450

12. The decimal form of
27100 60 4

100
    is ____

(a) 16.427 (b) 164.27
(c) 1642.70 (d) 1.6427

13. The value of (– 40) + (– 21) + (– 16) is ___
(a) – 22      (b) 77 (c) – 77 (d) – 45

14. The perimeter of a square with side 4 cm is
(a) 15 cm (b) 20 cm
(c) 16 cm (d) 12 cm.

15. The fraction
17
12  can be written as :

(a)
71

12
(b)

21
12

(c)
72

12
(d)

51
12

ãÊ×âáí ð (10)

áâÍëÔ áâ»öãÈ (X) Ìçï Öâ¿çï ÍýãÈãÏïÏ Ìä¿ë áâÍëÔâ ¿âÓ
ãÕ»lÍíÑâïÉä ÍÖïÊ »Óíð

10.

(a) 1 (b) 2 (c) 3     (d) 4

11. CDXL ÑâÃë ænÅí. áëÓëÏä» ÖïKÒâ»ÓÇ_______
(a) 550 (b) 540 (c) 440 (d) 450

12.
27100 60 4

100
   Ìçï Ê×âï× sÕ#Í _______

(a) 16.427 (b) 164.27
(c) 1642.70 (d) 1.6427

13. (– 40) + (– 21) + (– 16) Ìä ã»ïÑÈ = _______
(a) – 22  (b) 77 (c) – 77 (d) – 45

14. ¿íÓÖÌä ÍÓäÑäãÈ »ëÃÔä »ë ÁëÌä ÏâÁçÌä ÔïÏâæ  4 cm Àë

(a) 15 cm (b) 20 cm
(c) 16 cm (d) 12 cm.

15. áÍèÇâôï»
17
12 Ìë Ô¼ä ×»âÒ ð

(a)
71

12
   (b)

21
12

(c)
72

12
(d)

51
12

For Rough Work



KHOJ  PHASE - II            SCIENCE APTITUDE TEST              CLASS - 5

Page # 5UG–1 & 2, Concorde Complex, Above OBC Bank. R.C. Dutt Road., Alkapuri Baroda.

16. Put > or < sign in the boxes.

36 + 8 – 72   8  49 – 8   2 + 14

(a) > (b) < (c) = (d) none
17. On dividing 369 by (– 369), the quotient is

(a) 1 (b) – 1 (c) 0 (d) 69
18. The sum of two integers is 30. If one of the

integers is  – 42, then find the other.
(a) 80 (b) 70 (c) 72 (d) 50

19. Temperature of a place at 12 : 00 noon was  5ºC.
Temperature increased by 3ºC in first hour and
decreased by 1ºC in the second hour. What was
the temperature at 2:00 pm?
(a)  7ºC (b)  8ºC
(c)  5ºC (d)  10ºC

20. Write the fraction represented by the shaded
portion of the adjoining figure :

(a)
10
15

(b)
11
15

(c)
13
15

(d)
9

15

21. The regular polygon of 8 sides has a perimeter
of 152 cm. So its side length is.............
(a) 10 cm (b) 19 cm
(c) 20 cm (d) 15 cm

16. ¼í¼âÑâï > áÉÕâ < ÖïÞâ Ñè»í

36 + 8 – 72   8  49 – 8   2 + 14

(a) > (b) < (c) =       (d) áë»ÍÇ ÌãÚ

17. 369 Ìë (– 369) ÕÅë Ðâ½Èâ ÑÛÈä Ðâ½ÎÛ

(a) 1 (b) – 1 (c) 0 (d) 69

18. Ïë ÍèÇâôï»íÌí ÖÓÕâÛí 30 Àë. ’ë ÈëÑâïÉä áë» ÍèÇâôï» – 42,
ÚíÒ Èí Ïä‘ ÖïKÒâ.................
(a) 80 (b) 70 (c) 72 (d) 50

19. 12 : 00 ÏÍíÓë áë» sÉÛÌçï ÈâÍÑâÌ  5ºC Àë. ÈâÍÑâÌ
ÍÚëÔä »Ôâ»Ñâï 3ºC ÕËë Àë áÌë 1ºC Ïä‘ »Ôâ»Ñâï ÕËë
Àë, Èí 2:00 pm áë ÈâÍÑâÌ...........
(a)  7ºC (b)  8ºC
(c)  5ºC (d)  10ºC

20. áâcÀâÊäÈ ÚíÒ ÈëÕâ Ðâ½Ìí áï×.........

(a)
10
15

(b)
11
15

(c)
13
15

(d)
9

15

21. 8 ÏâÁçáí ËÓâÕÈí ãÌÒãÑÈ ÏÚç»íÇÌä ÍÓäÑäÈä 152 cm.
Àë. Èí ÈëÌä ÏâÁç..................
(a) 10 cm (b) 19 cm
(c) 20 cm (d) 15 cm

For Rough Work
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22. A solid shape with no edges is a........
(a) pyramid (b) cuboid
(c) sphere (d) cube

23. Perimeter of the figure is :

6 m

6 m
4 m

4 m

2 m

2 m

(a) 20 m     (b) 22 m (c) 24 m (d) 26 m
24. What is the area of square whose sides are 6 cm?

6 cm

6 cm

(a) 24 cm2 (b) 26 cm2

(c) 28 cm2 (d) 36 cm2

22. ÏâÁçáí (ËâÓ) Õ½ÓÌí ¾Ì ...............

(a) ÍäÓâÑäÅ (b) ÔïÏ¾Ì

(c) ½íÛí (d) ÖÑ¾Ì

23. áâ»öãÈÌä ÍÓäÑäÈä.

6 m

6 m
4 m

4 m

2 m

2 m

(a) 20 m    (b) 22 m (c) 24 m (d) 26 m

24. 6 cm ÏâÁçÕâÛâ ¿íÓÖÌçï ÜëÝÎÛ

6 cm

6 cm

(a) 24 cm2 (b) 26 cm2

(c) 28 cm2 (d) 36 cm2

For Rough Work
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25. Perimeter of the figure is :

(a) 20 m   (b) 30 m (c) 32 m (d) 35 m
26. What will be the area of the given rectangle

8 cm

2 cm

(a) 16 cm2 (b) 17 cm2

(c) 10 cm2 (d) 20 cm2

27. The sum   
2 4 10 5
7 7 7 7

  is

(a) 4 (b) 7 (c) 3 (d) 5

28.
53

16  is equal to

(a)
54
16     (b)

52
16 (c)

53
16    (d)

51
16

29. The successor of 36,79,999 is :
(a) 36,80,000 (b) 36,80,00,000
(c) 3,68,00,000 (d) 3,68,00,00,000

30. 6 × 100000 + 2 × 1000 + 5 =
(a) 6020005 (b) 6000205
(c) 602005 (d) 6000025

15. áâ»öãÈÌä ÍÓäÑäÈä.

(a) 20 m   (b) 30 m (c) 32 m (d) 35 m

26. Ìä¿ë áâÍëÔâ ÔïÏ¿íÓÖÌçï ÜëÝÎÛ

8 cm

2 cm

(a) 16 cm2 (b) 17 cm2

(c) 10 cm2 (d) 20 cm2

27.   
2 4 10 5
7 7 7 7

Ìí ÖÓÕâÛí

(a) 4 (b) 7 (c) 3 (d) 5

28.
53

16  _______ Ìë ÖÑâÌ ÉâÒ

(a)
54
16 (b)

52
16 (c)

53
16 (d)

51
16

29.36,79,999 Ìä ÍÀä Ìä ÖïKÒâ ________

(a) 36,80,000 (b) 36,80,00,000
(c) 3,68,00,000 (d) 3,68,00,00,000

30.6 × 100000 + 2 × 1000 + 5 =
(a) 6020005 (b) 6000205

(c) 602005 (d) 6000025

For Rough Work
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PART - II
1. If Raj takes 2.5 hours to reach the school. What

is the time in minutes?
(a) 150  (b) 120 (c) 60 (d) 30

2.  An example of natural disaster?
(a) Earthquake (b) Accident by bus
(c) Floods (d) Both (a) and (c)

3. What is the main type of energy used when a
pulley moves an object ?

(a) light (b) electrical
(c) chemical (d) mechanical

4. SI  unit of potential  energy is
(a) Newton (b) Joule
(c) Kilogram (d) Pascal

5. When Earth’s shadow blocks the Moon, it is
called a(n)
(a) solar eclipse (b) lunar eclipse
(c) axis (d) phase

6. A ______ breaks white light into colors
(a) reflection (b) refraction
(c) absorption (d) prism

PART - II
1. ’ë ÓâÁ ×âÛâáë ÁÕâ ÑâÃë  2.5 »Ôâ» Ôë Àë Èí áâ ÖÑÒ ãÑÌäÃÑâï

»ëÃÔí ÉâÒ¬

  (a) 150  (b) 120 (c) 60 (d) 30

2. »çÊÓÈä ãÕÌâ× Ìçï éÊâÚÓÇ¬

(a) Ðè»ïÍ (b) ÏÖ á»sÑâÈ

(c) ÍèÓ (d) ÏïÌë (a) áÌë (c)

3. ÁÒâÓë ÍÊâÉôÌë ÍçÔä ¾çÑâÕë Àë tÒâÓë »Òâ ÑçKÒ Íý»âÓÌä é’ôÌí
éÍÒí½ ÉâÒ Àë¬

(a) Íý»â× (b) ãÕYçÈ

(c) ÓÖâÒãÇ» (d) ÒâïãÝ»

4. áâïÈãÓ» é’ôÌí SI áë»Ñ

(a) nÒèÃÌ (b) ÁèÔ

(c) ã»Ôí½ýâÑ (d) Íâs»Ô

5. ÁÒâÓë ÍöTÕäÌí ÍÅÀâÒí ¿ï̈ Ìë Æâï»ë Àë ÈëÌë ......... »ÚëÕâÒ

(a) ÖèÒô½ýÚÇ (b) ¿ï¨½ýÚÇ

(c)  áÜ (d) »Ûâ

6. ÖÎëÊ Íý»â×Ìë Óï½íÑâï áÔ½ »ÓÕâÌä Íýã»ýÒâÌë .........»Úë Àë

(a) ÍÓâÕÈôÌ (b) Õ»ýäÐÕÌ

(c) ×íØÇ (d) ÍýäÂÑ

For Rough Work
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7. What is reflected by a red shirt ?
(a) white light (b) red light
(c) all light
(d) all colors of light except red light

8. What helps make work easier ?
(a) wedge
(b) screw
(c) lever
(d) all of the above simple machines

9. What is the property of matter that causes objects
to attract or repel
(a) energy field (b) electrical charge
(c) circuit (d) electrical switch

10. A flow of electric charge is
(a) Electric current (b) Electric charge
(c) Electric field (d) Electric circuit

11. When materials combine to form a mixture, they
(a) Keep their original properties.
(b) React to form a new substance with new
properties.
(c) Combine in a specific ratio.
(d) Always change their physical state.

12. What is a pure substance made of two or more
elements that are chemically combined called?
(a) A solution (b) A compound
(c) A mixture (d) An element

7. ÔâÔ ×Ãô ]âÓâ ×çï ÍÓâÕÈôÌ ÉâÒ¬

(a) ÖÎëÊ Íý»â× (b) ÔâÔ Íý»â×

(c) ÏËâ Íý»â×

(d) ÔâÔ Íý»â× ãÖÕâÒÌâ ÏËâÁ Óï½Ìâ Íý»â×

8. »íÌä ÑÊÊÉä »âÑ ÖÚëÔâæÉä ÉâÒ¬

(a) Îâ¿Ó (b) s»ýè

(c) éc¿âÔ» (d) éÍÓÌâ ÏËâÁ ÖâÊâ ÒïÝí

9. ¨vÒÌâ »Òâ ½çÇËÑôÌë »âÓÇë ÍÊâÉíô áë»Ïä’Ìë áâ»Øëô áÉÕâ
áÍâ»Øëô

(a) é’ô ÜëÝ (b) ãÕYçÈ ÐâÓ

(c) ÍãÓÍÉ (d) ãÕYçÈ sÕä¿

10. ãÕYçÈ ÍýÕâÚÌçï ÕÚÌ.............

(a) ãÕYçÈ ÍýÕâÚ (b) ãÕYçÈ ÐâÓ

(c) ãÕYçÈ ÜëÝ (d) ãÕYçÈ ÍãÓÍÉ

11. ÁÒâÓë ̈ vÒÌâ ÖÑnÕÒÉä ãÑÙÇ ÏÌë Àë tÒâÓë

(a) ÈëÑÌâ ÕâsÈãÕ» ½çÇËÑíô ’ÛÕë Àë

(b) Íýã»ýÒâ »ÓäÌë ÌÕâ ½çÇËÑô ÕâÛí ÌÕí ÍÊâÉô ÏÌâÕë Àë

(c) ãÕã×wÃ ½çÇí^âÓÑâï ÖïÒí’Ò Àë

(d) ÚïÑë×â ÈëÑÌä ÐâìãÈ» ãsÉãÈ ÏÊÔâÒ Àë

12. ÁÒâÓë Ïë áÉÕâ Ïë Éä ÕËâÓë ÈtÕí ÓâÖâÒãÇ» ÓäÈë ’ëÅâæÌë
ÏÌÈâ ×ç} ÍÊâÉíôÌë ×çï »ÚëÕâÒ¬

(a) ¨âÕÇ (b) ÖïÒíÁÌ

(c) ãÑÙÇ (d) ÈtÕí

For Rough Work
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13. When two or more elements join together
chemically,
(a) A compound is formed.
(b) A mixture is formed.
(c) A substance that is the same as the elements
is formed.
(d) The properties of the substances remain the
same.

14. Symbol of Mercury is
(a) Mg (b) Mn (c) Hg (d) Mr

15. Which is a chemical reaction?
(a) paper tears (b) sugar dissolves
(c) water boils (d) paper burns

16. Filtration can separate the substances that have
been combined using a funnel and filter paper.
Which of the following materials can be
separated using filtration?
(a) a mixture of mud and water
(b) a solution of vinegar and water
(c) a mixture of sand and sawdust
(d) a solution of salt and water

17. Carbon dioxide is formed through a chemical
reaction between carbon and
(a) Hydrogen (b) Chlorine
(c) Water (d) Oxygen

18. What is the symbol for the element chlorine?
(a) C (b) Cl (c) Ce (d) Ch

19. An example of gas is :
(a) Gold (b) Carbon
(c) Mercury (d) Helium

13. ÁÒâÓë Ïë áÉÕâ ÕËâÓë ÈtÕí ÓâÖâÒãÇ» ÓäÈë ÖâÉë ’ëÅâæÌë...

(a) ÖïÒíÁÌ ÏÌâÕë

(b) ãÑÙÇ ÏÌâÕë

(c) ÖÑâÌ ÈtÕí ËÓâÕÈâ ÍÊâÉô ÏÌâÕë

(d) ÍÊâÉôÌâ ½çÇËÑíô ÖÑâÌ ÁÛÕâÒ

14. ÍâÓâÌä ÖïÞâ

(a) Mg (b) Mn (c) Hg (d) Mr

15. ÓâÖâÒãÇ» Íýã»ýÒâ »æ Àë¬

(a) »â½ÛÌë ÎâÅÕí (b) ¼âïÅÌë áí½âÛÕä

(c) ÍâÇäÌë é»âÛÕçï (d) »â½ÛÌë ÖÛ½âÕÕí

16. ÎÌëÔ áÌë ÎälÃÓ ÍëÍÓÌí éÍÒí½ »ÓäÌë ÖïÒí’ÒëÔâ ÍÊâÉíôÌë
½âÛäÌë áÔ½ »Óä ×»âÒ. ½âÛÇÌí éÍÒí½ »ÓäÌë Ìä¿ëÌâ
»Òâ ̈ vÒíÌë áÔ½ »Óä ×»âÒ¬

(a) »âÊÕ áÌë ÍâÇäÌçï ãÑÙÇ(b) ÖÓ»í áÌë ÍâÇäÌçï ̈ âÕÇ

(c) ÓëÈä áÌë Ôâ»ÅâÌâ Ðç>âÌçï ãÑÙÇ

(d) ÜâÓ áÌë ÍâÇäÌçï ̈ âÕÇ

17. »âÏôÌ áÌë ................ Õc¿ë Ìä ÓâÖâÒãÇ» Íýã»ýÒâ ]âÓâ
»âÏôÌ ÅâÒí»ÖâæÅ ÏÌâÕä ×»âÒ.

(a) ÚâæÅ÷íÁÌ (b) »ÔíÓäÌ

(c) ÍâÇä (d) áí»ÖäÁÌ

18. ÈtÕ »ÔíÓäÌÌä ÖïÞâ »æ Àë¬

(a) C (b) Cl (c) Ce (d) Ch

19. ÕâÒçÌçï éÊâÚÓÇ

(a) ÖíÌçï (b) »âÏôÌ

(c) ÍâÓí (d) ÚäÔäÒÑ

For Rough Work
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20. What is the symbol for the element tungsten
(a) W (b) Tu (c) Ts (d) Wo

21. The eye is protected by a transparent covering
called
(a) Iris (b) Retina (c) Pupil (d) Cornea

22. Which of the following is the probable method ,
migratory birds use to travel to the same place
year after year?
(a) They have built-in sense of direction and
probably use land-marks to guide themselves.
(b) They are guided by the position of the sun
during the day and by the position of stars at
night.
(c) They use the magnetic field of earth to find
the direction so as to reach the same place.
(d) All of these

23. Consider the following four adaptations and
select the ones required for animals to survive in
tropical rain-forests.
(i) Living on the trees, development of strong tails.
(ii) Burrowing in soil to escape high temperature.
(iii) Sensitive hearing, sharp eyesight, thick skin,
ability to camouflage.
(iv)Bask in Sun when temperature is low.
(a) (i) and (iv) (b) (ii) and (iv)
(c) (i) and (iii) (d) (ii) and (iii)

24. “Fats are stored beneath the skin and around
the heart and kidneys”. It is because _______.
(a) When we are short of energy, our body uses
stored fats
(b) The stored fats in our body help to keep us
warm
(c) Fats act as shock absorber and protect
internal organs from injury
(d) All of these

20. ÈtÕ Ãï½sÃÌÌä ÖïÞâ ×çï Àë¬

(a) W (b) Tu (c) Ts (d) Wo
21.ÍâÓÊ×ô» Æâï»Ç ÕÅë Æï»âÒëÔ áâï¼Ìë........... »ÚëÕâÒ.

(a) áâï¼Ìä »ä»ä (b) ÓëÃäÌâ

(c) ÍÅÊí

(d) áâï¼Ìâ ÅíÛâ éÍÓÌí ÍâÓÊ×ô» ÍÅÊí

22. Ìä¿ëÌä »æ ×»Ò Í}ãÈÌí sÉâÌâïÈÓ »ÓÈâ ÍÜäáí ÕØô ÍÀä
ÕØô ÖÑâÌ sÉÛëÉä éÍÒí½ »Óë Àë.

(a) Èëáí ãÊ×ânÈ ÐâÕÌâÑâï ÏïËâÒëÔâ ÚíÒ Àë áÌë ÈëÑÌâ
Ñâ½ôÊ×ôÌ ÑâÃë Èëáí ÁÑäÌÌí éÍÒí½ »Óë Àë

(b) ãÊÕÖ ÊÓãÑÒâÌ ÖèÒôÌâ sÉâÌÌë áÌçÔÜäÌë Èëáí Ñâ½ôÊ×ôÌ
ÑëÛÕë Àë áÌë ÓâÝä ÊÓãÑÒâÌ ÈâÓâÌâ sÉâÌÌë áÌçÔÜäÌë Èëáí
Ñâ½ôÊ×ôÌ ÑëÛÕë Àë.

(c) ÖÑâÌ ÁgÒâáë ÍÚíï¿Õâ ÑâÃë Èëáí ¿çïÏ»äÒ ÜëÝÌí éÍÒí½
»ÓäÌë ãÊ×â ×íËë Àë.

(d) ÏËâÁ

23. Ìä¿ëÌâÑâïÉä ¿âÓ #ÍâïÈÓÇíÌë DÒâÌÑâï Ôí áÌë éwÇ»Ãä-
ÏïËäÒ ÕÓÖâÊä Áï½ÔíÑâïÉä Ã»ä ÓÚëÕâ ÑâÃë ÍýâÇäáí ÑâÃë áë»Ìä
ÍÖïÊ½ä »Óë Àë.

(i) ÂâÅ ÍÓ ÓÚë Àë, ÑÁÏèÈ ÍèïÀÅäÌíÌí ãÕ»âÖ

(ii) éï¿â ÈâÍÑâÌÉä Ï¿Õâ ÁÑäÌÌä áïÊÓ ½çÎâ ¼íÊë Àë

(iii) ÖïÕëÊÌ×äÔ ÖçÌâÕÇä, áâï¼í ÌÁÓ ¿»¿»äÈ, ’Åä
¿âÑÅä, ÀâÍÕâÌä ÜÑÈâ

(iv) ÁÒâÓë ÈâÍÑâÌ Ìä¿çï ÚíÒ tÒâÓë ÖèÒô ÍÓ ÚíÒ

(a)  (i) áÌë (iv) (b) (ii) áÌë (iv)
(c) (i) áÌë  (iii) (d) (ii) áÌë (iii)

24. ÑëÊ ¿âÑÅäÌâ áâÕÓÇÑâï ÁÑâ ÉâÒ Àë áÌë _ÊÒ áÌë »äÅÌäÌä
áâÁçÏâÁç ’ëÕâ ÑÛë Àë. Èë ÉÕâÌçï »âÓÇ.............

(a) ÁÒâÓë áâÍÇÌë é’ôÌä áÀÈ ÉâÒ Àë tÒâÓë áâÍÇçï ×ÓäÓ
Öï½ýÚâÒëÔä ¿ÓÏäÌí éÍÒí½ »Óë Àë.

(b) áâÍÇâ ×ÓäÓÑâï Öï½ýÚâÒëÔä ¿ÓÏä ×ÓäÓÌë ÚèïÎâÛçï Óâ¼Õâ
ÑÊÊ »Óë Àë.

(c) ¿ÓÏä Ëýç’ÓäÌë ×íØÌâÓ ÈÓä»ë ÕÈëô Àë áÌë áâïÈãÓ»
áÕÒÕÌë æ’Éä ÓÜÇ áâÍë Àë.

(d) éÍÓÌâ ÏËâ Á
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25. Which of the following is a deficiency disease?
(a) Pellagra (b) Malaria
(c) Cholera (d) Typhoid

26. The only movable bone in the skull is
(a) Upper jaw (b) Lower jaw
(c) Face bones (d) None of these

27. Which of the following statement is incorrect for
penguins?
(a) They huddle together
(b) They can’t swim
(c) They have webbed feet
(d) They have streamlined body

28. Shubham tried to bend his elbow backward like
how he could with his shoulder. He found out
he could not. This is because the elbow joint is
made up of
(a) Pivot joint (b) Hinge joint
(c) Ball and socket joint
(d) Fixed joint

29. The pulp cavity which is located inside the tooth
is filled with
(a) Blood vessels (b) Nerve fibres
(c) Salivary glands (d) Both (a) & (b)

30. Which of the following is not an example of
response to stimulus?
(a) Watering in mouth when we see delicious
food
(b) Closing of leaves of mimosa plant when
touched
(c) A chick hatching out of an egg
(d) Shutting our eyes when an object is suddenly
thrown in our direction

25. Ìä¿ëÌâÑâïÉä »Òí Óí½ éÇÍÉä ÉâÒ Àë¬

(a) ÍëÔâ½ýâ (b) ÑÔëãÓÒâ

(c) »íÔëÓâ (d) ÃâæÎíæÅ

26. ¼íÍÓäÑâï áë»ÑâÝ ÚÔÌ¿ÔÌ »ÓÈä áãsÉ............ Àë.

(a) éÍÔçï ÁÅÏçï (b) Ìä¿Ôçï ÁÅÏçï

(c) ¿ÚëÓâÌâ ÚâÅ»âï (d) áâÑâïÉä áë»ÍÇ ÌãÚ

27. Íëï½çæÌ ÑâÃë Ìä¿ëÌâÑâïÉä »Òâ ãÕËâÌí Öâ¿â ÌÉä¬

(a) Èëáí ÐäÅÐâÅÑâï ÖâÉë ÚíÒ

(b) Èëáí ÈÓä ×»Èâ ÌÉä

(c) Èëáí ’ÛäÊâÓ Í½ ËÓâÕë Àë

(d) Èëáí ÖçvÒÕãsÉÈ ×ÓäÓ ËÓâÕë Àë

28. ×çÐÑ ÈëÌä »íÇäÌë ÍâÀÛÌä ÏâÁçáë ÈëÌâ ¼Ðâ ÖâÉë ÕâÛÕâÌí
ÍýÒtÌ »Óë Àë. ÈëÌâÉä Èë ÉÈçï ÌÉä áë Áçáë Àë, »âÓÇ»ë »íÇäÌâ
’ëÅâÇ ÏÌëÔâ Àë.

(a) ÍäÕíÃ ’ëÅâÇ (b) ãÚnÁ ’ëÅâÇ

(c) ÏíÔ áÌë Öí»ëÃ ’ëÅâÇ (d) ÏïË» ’ëÅâÇ

29. ÊâïÈÌä áïÊÓ ãsÉÈ ÍíÔâÇÑâï ÑâÕí.........Éä ÐÓâÒ Àë

(a) Ó»È ÕâãÚÌäáí (b) ¿ëÈâ ÓëÖâ

(c) sÝâÕ ½ýïãÉáí (d) ÏïÌë (a) áÌë (b)

30. é^âëÁÌâÌë ÍýãÈÐâÕ áâÍÈç Ì ÚíÒ ÈëÕçï éÊâÚÓÇ Ìä¿ëÌâÑâïÉä
»Òçï Àë¬

(a) ÁÒâÓë áâÍÇë sÕâãÊwÃ ¼íÓâ» ’ëæáë tÒâÓë ÑíÑâï ÍâÇä
áâÕä ’Ò

(b) ÁÒâÓë Ô’ÑÇä ÀíÅÌë áÅ»äáë tÒâÓë ÈëÌâ ÍÇíô ÏäÅâæ
’Ò

(c) æïÅâÌë ÖëÕÕâÉä Ïc¿çï ÁnÑë Àë

(d) ÁÒâÓë áë»âáë» ÍÊâÉôÌë áâÍÇä ãÊ×âÑâï Îëï»ÕâÑâï áâÕë tÒâÓë
áâÍÇë áâï¼í ÏïË »Óäáë Àäáë
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